# Local Government Elections 2007: Declaration of result Clackmannanshire Council: CLACKMANNANSHIRE WEST electoral ward

### **FINAL REPORT**

Here is the result of the election in the CLACKMANNANSHIRE WEST electoral ward of the Clackmannanshire Council local authority.

The percentage poll was 54.12%.

And I declare that after application of the STV count rules, the following have been duly elected to serve as Councillors for the CLACKMANNANSHIRE WEST ward of the Clackmannanshire Council local authority:

	Candidate Name	Elected at stage number
Eddie Carrick		2
George Matchett		1
Janis Paterson		5
Tina Murphy		1

(b) Of the total ballot papers, the following were rejected as void and not counted on account of:

	Reason	Number of
(a).	Want of unique identifying mark / official mark	papers 0
	On which the figure "1" standing alone indicating a 1st preference is set opposite the name of more than 1	

(b).	candidate	11	ı
(c).	Writing or mark by which voter can be identified	<u>  55</u>	
(d).	*Unmarked or void for uncertainty	][0	
	Total ballot papers rejected	53	
		108	

<sup>\*</sup> Unmarked or void for uncertainty: Note - this will also include ballot papers rejected under Rule 43 (1) (b).

Signed:	RO/DCRO
Date:	

« Back to Full Result Sheet Detailed Description » Declaration »

Election For	CLACKMANNANSHIRE WEST FINAL REPORT		
Date	04/05/2007		
Number to be elected	4		
Valid Votes	4275		
Rejected as void	108		
Quota	856.00000		
	Name	eSTV	
Software	Version	2.0.16	
	Registration 171119214		
Rules	WIG		

		Stage 2			
	First	Surplus of			
Candidates	Preferences	George Matchett			
lftikhar Ahmed	309.00000	11.09505	320.09505		
Eddie Carrick	824.00000	163.16250	987.16250		
Bill Mason	369.00000	5.22120	374.22120		
George Matchett	1094.00000	-238.00000	856.00000		
Tina Murphy	1027.00000		1027.00000		
Janis Paterson	652.00000	12.18280	664.18280		
Non-transferable	0.00000	46.33845	46.33845		
Total	4275		4275		

		2	Stage 3	
	First		Surplus of Tina Murphy	
Candidates	Preferences			
lftikhar Ahmed	309.00000	320.09505	6.99300	327.08805
Eddie Carrick	824.00000	987.16250		987.16250
Bill Mason	369.00000	374.22120	3.49650	377.71770
George Matchett	1094.00000	856.00000		856.00000
Tina Murphy	1027.00000	1027.00000	-171.00000	856.00000
Janis Paterson	652.00000	664.18280	135.19800	799.38080
Non-transferable	0.00000	46.33845	25.31250	71.65095
Total	4275	4275		4275

	1	3	Stage 4	
	First		Surplus of	
Candidates	Preferences		Eddie Carrick	
lftikhar Ahmed	309.00000	327.08805	24.83598	351.92403
Eddie Carrick	824.00000	987.16250	-131.16250	856.00000
Bill Mason	369.00000	377.71770	11.33484	389.05254
George Matchett	1094.00000	856.00000		856.00000
Tina Murphy	1027.00000	856.00000		856.00000
Janis Paterson	652.00000	799.38080	20.41628	819.79708
Non-transferable	0.00000	71.65095	74.57540	146.22635
Total	4275	4275		4275

		4	Stage 5		
	First		Exclusion of Iftikhar Ahmed		
Candidates	Preferences				
lftikhar Ahmed	309.00000	351.92403	-351.92403	0.00000	
Eddie Carrick	824.00000	856.00000		856.00000	Elected
Bill Mason	369.00000	389.05254	103.42390	492.47644	
George Matchett	1094.00000	856.00000		856.00000	Elected
Tina Murphy	1027.00000	856.00000		856.00000	
Janis Paterson	652.00000	819.79708	95.52273	915.31981	
Non-transferable	0.00000	146.22635	152.97740	299.20375	
Total	4275	4275		4275	

<sup>© 2007</sup> Electoral Reform Services Limited.

Reading 6 candidates, and 4 vacancies.

Using Rule set: WIG 5 decimal places 0 votes invalid

Registered by: Joe Otten Registered to: Joe Wadsworth

Email: wig@erbs.co.uk

Expires: 19 January 2008 00:36

License type: WIG

This edition of eSTV is limited to 3000 candidates and 100000 ballot papers.

**CLACKMANNANSHIRE WEST** 

Stage 1

Total Valid Vote: 4275 Places to be filled +1: 5 Quota = 856.00000

First Preferences
Iftikhar Ahmed 309.00000
Eddie Carrick 824.00000
Bill Mason 369.00000
George Matchett 1094.00000
Tina Murphy 1027.00000
Janis Paterson 652.00000

George Matchett ELECTED

With 1094.00000 over quota 856.00000

**Tina Murphy ELECTED** 

With 1027.00000 over quota 856.00000

Stage 2
Surplus of George Matchett
1094.00000 transferred
This is more than the surplus of 238.00000
So ballot paper value reduced by a factor of 0.21755
Transfer from George Matchett: 1094 at 0.21755 = 237.99970
Transfer to Iftikhar Ahmed: 51 at 0.21755 = 11.09505

Transfer to Iftikhar Ahmed: 51 at 0.21755 = 11.09505 Transfer to Eddie Carrick: 750 at 0.21755 = 163.16250

Transfer to Bill Mason: 24 at 0.21755 = 5.22120
Transfer to Janis Paterson: 56 at 0.21755 = 12.18280
Transfer to Non-transferable: 213 at 0.21755 = 46.33815

0.00030 non-transferable due to rounding

### **Eddie Carrick ELECTED**

With 987.16250 over quota 856.00000

Stage 3
Surplus of Tina Murphy
1027.00000 transferred
This is more than the surplus of 171.00000
So ballot paper value reduced by a factor of 0.16650
Transfer from Tina Murphy: 1027 at 0.16650 = 170.99550
Transfer to Iftikhar Ahmed: 42 at 0.16650 = 6.99300
Transfer to Bill Mason: 21 at 0.16650 = 3.49650
Transfer to Janis Paterson: 812 at 0.16650 = 135.19800
Transfer to Non-transferable: 152 at 0.16650 = 25.30800
0.00450 non-transferable due to rounding

## Stage 4

Surplus of Eddie Carrick 987.16250 transferred

This is more than the surplus of 131.16250

So ballot paper value reduced by a factor of 0.13286 Transfer from Eddie Carrick: 824 at 0.13286 = 109.47664 Transfer from Eddie Carrick: 750 at 0.02890 = 21.67500 Transfer to Iftikhar Ahmed: 153 at 0.13286 = 20.32758 Transfer to Iftikhar Ahmed: 156 at 0.02890 = 4.50840

Transfer to Bill Mason: 69 at 0.13286 = 9.16734 Transfer to Bill Mason: 75 at 0.02890 = 2.16750

Transfer to Janis Paterson: 128 at 0.13286 = 17.00608 Transfer to Janis Paterson: 118 at 0.02890 = 3.41020 Transfer to Non-transferable: 474 at 0.13286 = 62.97564 Transfer to Non-transferable: 401 at 0.02890 = 11.58890

0.01086 non-transferable due to rounding

## Stage 5

Excluding Iftikhar Ahmed

Transfer from Iftikhar Ahmed: 309 at 1.00000 = 309.00000 Transfer from Iftikhar Ahmed: 51 at 0.21755 = 11.09505 Transfer from Iftikhar Ahmed: 42 at 0.16650 = 6.99300 Transfer from Iftikhar Ahmed: 153 at 0.13286 = 20.32758 Transfer from Iftikhar Ahmed: 156 at 0.02890 = 4.50840

Transfer to Bill Mason: 90 at 1.00000 = 90.00000
Transfer to Bill Mason: 12 at 0.21755 = 2.61060
Transfer to Bill Mason: 7 at 0.16650 = 1.16550
Transfer to Bill Mason: 60 at 0.13286 = 7.97160
Transfer to Bill Mason: 58 at 0.02890 = 1.67620
Transfer to Janis Paterson: 87 at 1.00000 = 87.00000
Transfer to Janis Paterson: 9 at 0.21755 = 1.95795
Transfer to Janis Paterson: 15 at 0.16650 = 2.49750
Transfer to Janis Paterson: 23 at 0.13286 = 3.05578

4)

Transfer to Janis Paterson: 35 at 0.02890 = 1.01150

Transfer to Non-transferable: 132 at 1.00000 = 132.00000 Transfer to Non-transferable: 30 at 0.21755 = 6.52650 Transfer to Non-transferable: 20 at 0.16650 = 3.33000 Transfer to Non-transferable: 70 at 0.13286 = 9.30020 Transfer to Non-transferable: 63 at 0.02890 = 1.82070

## **Janis Paterson ELECTED**

With 915.31981 over quota 856.00000

\*\*\*Finished\*\*\*